9.4 Law of Sines and
cosines



Find each missing part of the triangle (sides and angles):
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C. Find the area of the triangle: , h
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Consider the following triangle:

If you know angle A, can you find the he
of the triangle?
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Where A is the included angle of 2 consecutive b
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,:\ Find the area of each triangle. State if there is not enough information
D.

R Q
12 km 76° 8 ki 4inh
P 13 R
P 0

‘\5 (\2)9)sin106’ \“z (Y2 Q\nqis°
(o7 o (2575




21 cm
14 cm

B 19 cm A

s QN\DWK\“

. Jaronis building a triangular garden in his

yard. Each side of the triangle is the
same. If the amount of fence he uses on
the garden is 36 feet, find the area of the
garden he is building.
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LAW OF SINES B
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L. Find AB. M. Find mZA.




LAW OF COSINES




N. Find AC.
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P. Find AB. Q. Fir_1d DF.
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R. Find m«C.
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S. Find mZA.
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Use the Law of Sines AND the Law of Cosines to find each measure
= indicated. If there is not enough information, write NEI.
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LAW OF SINES LAW OF COSINES
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